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QUESTION 1

Your customer has two warehouses (Inventory organizations) located in two different regions. They have a consigned
agreement in place with the supplier. Your customer requests that whenever consumption advice is created, it should be
created separately for each inventory organization.

What setup is required to achieve this requirement?

A. Set Consumption Advice Summary in Consignment Agreement to "Organization\\'.

B. Set Consumption Advice Summary in Consignment Agreement to "All Organizations with items".

C. This cannot be achieved because only one common consumption advice is created regardless of other parameters.

D. Set Consumption Advice Summary in Consignment Agreement to "All Organizations".

Correct Answer: A

QUESTION 2

Which three types of jurisdictions should be considered while designing the Enterprise Structure?
A. Labor Jurisdiction

B. Obligatory Jurisdiction

C. Local Jurisdiction

D. Income Tax Jurisdiction

E. Transaction Tax Jurisdiction

F. Identifying Jurisdiction

Correct Answer: DEF

QUESTION 3

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs).
While trying to set up Cost Organizations for each of these Legal Entities you were unable to perform the mandatory
step of assigning the Profit Center Business Unit for one set of eight Inventory Organizations; however, you could do it
for the other set.

What is the reason for this?

A. The Legal Entity Setup is incomplete.

B. There is no Inventory Validation Organization defined.

C. The General Ledger is not associated with Business Unit.
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D. The Business Unit is not enabled for Costing.
E. There is no Business Unit associated with the Legal Entity.

Correct Answer: E

QUESTION 4

Given the code fragment:

public class Bean {
]

@SessionScoped

public class Service [
DInject
private Bean bean;

Assuming this bean is used only in the code fragment above, how long will the injected Bean instance be available?
A. for the lifetime of the enterprise application

B. for the lifetime of the request

C. for the lifetime of the session

D. for the lifetime of the Service object

Correct Answer: D

QUESTION 5

Given the code fragment: Which URL triggers the invocation of the getEmployee () method?

@Path ("Employees")
public class EmployeesResource (
TInject privace EmployeeManager em;
BGet
@Path("[id:[A-Z] [0-9]+)")
public Employee getEmployee(@PathParam("id") String id) {
return em.findEmployee(id);

A. [Employees/89724
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B. /Employees/J6349
C. /Employees/id:a7280
D. /Employees/id/J6349

Correct Answer: B
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